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% 3% a, b ol thate] Thg o] FolA AL A8atel {(-2) 07} +
{(12 % 3) x 5} & -otH?

aob=axb-2a, axb = 2a—-b?
@5 o@-1 02 @ 4 ® 9

(-2) 07 = (-2) x 7 - 2(-2) = (-14) 4+ 4 = 10,
12%3=2x12-(3)>=24-9 = 15,

{(=2) o 7} + {(12 % 3) % 5}

= -10+ (15 %5)

=104 (2x15-15%)

=-10+5=-5




4. 22 x5x 72 9] Ok Zo||A] 35 2] HiS=9] NS0

©24 @4 @ @sH  © 10
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22 x5x7?=23x7x35 0B

OFF 5 35 9 HiQl oF59] 4= 28 x 7 9] o] Aot
Zrt.

B+ x(1+1)=8(7H)




5. % %% a, bol thste] b o Aehge] o o Aghact 6w 2,
a<b, axb<0,b-—a=145 W= 0, g+ b 9 7t2?

® 2 @6 @ @12 ou

B ~

ab<0, a<blA a<0, b>0

bl =6x|a| WA b=—-6a 6a—a=-Ta=14, .. a= -2
. b=—6a=(=6)x (<2) = 12

Ta+b=-2+12=10




